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5/9/07 9:24 PM MATLAB Command Window

To get started, select MATLAB Help or Demos from the Help menu.
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>> p=[0,1,0;0,2/3,1/3;1/16,15/16,0) MA TN LAB foue second/

P = ?0/‘7“ %/ /.§. 2

0 1 0
0 2/3 1/3
1/16 15/16 0
>> eig(P)
ans =
-1/4
-1/12
1
>> P"2
ans =
0 2/3 1/3
1/48 109/144 2/9
0 11/16 5/16

>> s=[1,1,1;-1/4,-1/12,1;1/16,1/144,1])

s = S Corrcsponds 4o Hhe
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1/16 1/144 1 Solee  fo odtas/n a o
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>> inv(8)

ans =
-2/5 -22/5 24/5
18/13 54/13 ~-72/13
1/65 16/65 48/65
>> u=[1,0,0]"

w = (9p°, R S

o

>> inv(S)*u
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ans =

-2/5

18/13

1/65
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